20233t'A L 2A Y 08 EM SF(WAHE)
HD MY X X} SEHAL 74 Hr A=A
1 |=2E2l ol 1 HELIZ HEHE |H2AME 16,800 1 16,800
2 |EEo o 2 HELIE HEHE |g2AME 16,800 1 16,800
3 |22 AFE AN 45| ZEMTY 15,000 1 15,000
4 |2&2 93 O|g2| 2 2EZ|2 14,800 1 14,800
5 |Ltol AFRAR2 B R} =] DA =02y 33,000 1 33,000
6 |MO|=o| 7tEH MOl ool 7,200 1 7,200
7 |ElATHe| Sh=AL x| ER ZHE L 0| X| 18,000 1 18,000
8 |2EY = gelga 240l o] X| Z 2| O} 13,000 1 13,000
9 [Z27% FIPST! O|EtEA 16,800 1 16,800
10 |=telo] A ™ AlO|= 1827 22 15,500 1 15,500
11 | =54 o8 i =2l =ots4| 16,000 1 16,000
12 |O{HL[o] B4t Oj=8e} O/Lto|  |==A7t 18,000 1 18,000
13 |2eh Mg 2es U 16,500 1 16,500
14 |0|Z U Op20|2t StAt oIt 2eE U 12,000 1 12,000
15 |2AT 214 =20 7|1 ChobAE) 13,000 1 13,000
16 |21/O{ A Aol AL A CH= 01O 18,000 1 18,000
17 |017l= Mgt XIO|HESA 15,800 1 15,800
18 |[MZE7) YHet ez 15,800 1 15,800
19 |=2&0[7t == I} O| &3t | 16,000 1 16,000
20 |d=HIE g5t N=HO|AE| 15,000 1 15,000
21 [=|Melzt da2 rt 13,000 1 13,000
20 [HEHA A 54 rct 13,000 1 13,000
23 [Ml&oAM 2+ st 21 Hs4 2r} 13,000 1 13,000




24 139 dHS a4 Qrt 13,000 1 13,000
25 |1y a4 C} 13,000 1 13,000
26 |[2F Y ool Arret &= QICH da2 rt 13,000 1 13,000
27 |40|Z9 ots =g 40|48 ogol2s2 18,000 1 18,000
28 |[=2 X% MH A= GLi= Ho|A 20| a5 16,500 1 16,500
29 [A=22 BEQ D =2 221 40 d448Z CHbE A 14,000 1 14,000
30 [BIELHS FA[Y: otz HtS 0 S I Al 18,800 1 18,800
31 |7IE3t Oj=2t 2l S I A| 17,800 1 17,800
32 |=1f gAto| utst 2 A2 = Hi| 7} 17,500 1 17,500
33 |2}l ZosiN 22 oty FHHE A 17,000 1 17,000
34 |24 1 SHA|CH 2713 PSENS 12,000 1 12,000
35 [24] 2 SHA|CE ATtE HZEA 12,000 1 12,000
36 |24 3 SHA|CH A713 ESEIN; 12,000 1 12,000
37 |24 4 SHA|ICH A71= HZEA 12,000 1 12,000
38 |24l 5 SHA|CH A7+3 SEYN: 12,000 1 12,000
39 |24 6 SHA|CH A7t3 SEI\: 12,000 1 12,000
40 X122 ot= %7 DaAIR} O}7|2 |2 ZetX} 16,800 1 16,800
41 |88 HAQ| 7| ™ Zof M& [=)=] 17,500 1 17,500
42 |2 M K astE = I 15500 ] 1 15,500
43 |EE2e 2 Qs 82 oazA 18,800 1 18,800
44 |9 21°40| off BlEX| 40tOF oHCFLL OfRF0| LHGLX|ZYAE 17,500 1 17,500
45 |HeE HEA d=5E = A=t SN O|Cjofs= 17,800 1 17,800
46 a2 flot ¢ 0|24 =& 16,000 1 16,000
47 |BH0ol East =t g EHE M A A 17,800 1 17,800
48 |HE A2 CHIISHA] 3| 27t= | 2e 16,000 1 16,000
49 |H2 =X 52| HE WA X H| =LA 17,000 1 17,000
50 |AHHO| RE[E d=5HA Bt 5= ULt o = 2 7] ZTHETD| 16,800 1 16,800




A 15 F=4 X202 17,000 1 17,000
oA 25 F=4 A2ote S 20,000 1 20,000
&N 358 F=4 A2oE S 22,000 1 22,000
EAQL O S=tATh Y Fet7tol 587 |Eeks| 19,500 1 19,500
B 00 HojF= otg &= oto|C|of SRS St M2tA ' 18,000 1 18,000
OfF 5|0jgt 8le2e 29 ZshE | 16,800 1 16,800
H 0l 2A|CE £+0[X] 2R 15,000 1 15,000
b b A~H0] CHaK Zhotoj KOG ESA 13,800 1 13,800
SES OfL| 0|2 ZetsU| 11,000 1 11,000
aAs9 ¥ =2 H5F OfL| 2 DI Z A 14,000 1 14,000
QI=0lE Hi® 2, 0= ot Zofd Of £ 16,800 1 16,800
Lto| 78 +=¢ Ztotgt OLESA 18,000 1 18,000
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